
Multiply by Negative Powers of Ten (A)Find each product.
9,9 × 10⁻² = 3,8 × 10⁻³ =
1,273 × 10⁻¹ = 7,97 × 10⁻² =
8,76 × 10⁻³ = 3,0182 × 10⁻¹ =
0,6 × 10⁻³ = 6,491 × 10⁻² =
3,14 × 10⁻² = 4,23 × 10⁻³ =
0,6 × 10⁻¹ = 4,2 × 10⁻¹ =
2,8 × 10⁻² = 2,89 × 10⁻² =
5,6729 × 10⁻³ = 4,2361 × 10⁻¹ =
3,3 × 10⁻¹ = 3,352 × 10⁻² =
6,255 × 10⁻³ = 8,7284 × 10⁻¹ =
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Multiply by Negative Powers of Ten (A) AnswersFind each product.
9,9 × 10⁻² = 0,099 3,8 × 10⁻³ = 0,0038
1,273 × 10⁻¹ = 0,1273 7,97 × 10⁻² = 0,0797
8,76 × 10⁻³ = 0,00876 3,0182 × 10⁻¹ = 0,30182
0,6 × 10⁻³ = 0,0006 6,491 × 10⁻² = 0,06491
3,14 × 10⁻² = 0,0314 4,23 × 10⁻³ = 0,00423
0,6 × 10⁻¹ = 0,06 4,2 × 10⁻¹ = 0,42
2,8 × 10⁻² = 0,028 2,89 × 10⁻² = 0,0289
5,6729 × 10⁻³ = 0,0056729 4,2361 × 10⁻¹ = 0,42361
3,3 × 10⁻¹ = 0,33 3,352 × 10⁻² = 0,03352
6,255 × 10⁻³ = 0,006255 8,7284 × 10⁻¹ = 0,87284
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Multiply by Negative Powers of Ten (B)Find each product.
8,891 × 10⁻² = 2,1 × 10⁻² =
0,6631 × 10⁻¹ = 0,0568 × 10⁻³ =
1,8 × 10⁻¹ = 4,96 × 10⁻¹ =
1,2 × 10⁻² = 1,91 × 10⁻² =
7,737 × 10⁻¹ = 0 × 10⁻³ =
0,5041 × 10⁻² = 9,4 × 10⁻² =
9 × 10⁻³ = 5,9456 × 10⁻³ =
2,2 × 10⁻² = 3,3 × 10⁻¹ =
8,8 × 10⁻¹ = 4,039 × 10⁻¹ =
9,7 × 10⁻² = 0,9 × 10⁻³ =
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Multiply by Negative Powers of Ten (B) AnswersFind each product.
8,891 × 10⁻² = 0,08891 2,1 × 10⁻² = 0,021
0,6631 × 10⁻¹ = 0,06631 0,0568 × 10⁻³ = 0,0000568
1,8 × 10⁻¹ = 0,18 4,96 × 10⁻¹ = 0,496
1,2 × 10⁻² = 0,012 1,91 × 10⁻² = 0,0191
7,737 × 10⁻¹ = 0,7737 0 × 10⁻³ = 0
0,5041 × 10⁻² = 0,005041 9,4 × 10⁻² = 0,094
9 × 10⁻³ = 0,009 5,9456 × 10⁻³ = 0,0059456
2,2 × 10⁻² = 0,022 3,3 × 10⁻¹ = 0,33
8,8 × 10⁻¹ = 0,88 4,039 × 10⁻¹ = 0,4039
9,7 × 10⁻² = 0,097 0,9 × 10⁻³ = 0,0009

Math-Drills.Com



Multiply by Negative Powers of Ten (C)Find each product.
5,5 × 10⁻¹ = 7,3488 × 10⁻¹ =
7,6332 × 10⁻³ = 1,6 × 10⁻³ =
9,3661 × 10⁻¹ = 7,809 × 10⁻¹ =
6,45 × 10⁻¹ = 6,466 × 10⁻³ =
3,96 × 10⁻² = 3,3 × 10⁻³ =
0,378 × 10⁻³ = 3,7 × 10⁻² =
3,067 × 10⁻³ = 4,102 × 10⁻³ =
9,55 × 10⁻³ = 0,864 × 10⁻¹ =
9,29 × 10⁻³ = 1,3556 × 10⁻³ =
2,145 × 10⁻² = 8,634 × 10⁻¹ =
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Multiply by Negative Powers of Ten (C) AnswersFind each product.
5,5 × 10⁻¹ = 0,55 7,3488 × 10⁻¹ = 0,73488
7,6332 × 10⁻³ = 0,0076332 1,6 × 10⁻³ = 0,0016
9,3661 × 10⁻¹ = 0,93661 7,809 × 10⁻¹ = 0,7809
6,45 × 10⁻¹ = 0,645 6,466 × 10⁻³ = 0,006466
3,96 × 10⁻² = 0,0396 3,3 × 10⁻³ = 0,0033
0,378 × 10⁻³ = 0,000378 3,7 × 10⁻² = 0,037
3,067 × 10⁻³ = 0,003067 4,102 × 10⁻³ = 0,004102
9,55 × 10⁻³ = 0,00955 0,864 × 10⁻¹ = 0,0864
9,29 × 10⁻³ = 0,00929 1,3556 × 10⁻³ = 0,0013556
2,145 × 10⁻² = 0,02145 8,634 × 10⁻¹ = 0,8634
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Multiply by Negative Powers of Ten (D)Find each product.
4,398 × 10⁻³ = 1,85 × 10⁻³ =
4,498 × 10⁻¹ = 0,25 × 10⁻¹ =
3,34 × 10⁻³ = 8,822 × 10⁻³ =
4,24 × 10⁻² = 1,51 × 10⁻² =
3,46 × 10⁻³ = 1,14 × 10⁻¹ =
6,42 × 10⁻³ = 5,891 × 10⁻³ =
5,5 × 10⁻³ = 8,4358 × 10⁻³ =
2,6 × 10⁻¹ = 9,69 × 10⁻¹ =
8 × 10⁻³ = 6,2 × 10⁻¹ =
4,1334 × 10⁻² = 9,181 × 10⁻² =
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Multiply by Negative Powers of Ten (D) AnswersFind each product.
4,398 × 10⁻³ = 0,004398 1,85 × 10⁻³ = 0,00185
4,498 × 10⁻¹ = 0,4498 0,25 × 10⁻¹ = 0,025
3,34 × 10⁻³ = 0,00334 8,822 × 10⁻³ = 0,008822
4,24 × 10⁻² = 0,0424 1,51 × 10⁻² = 0,0151
3,46 × 10⁻³ = 0,00346 1,14 × 10⁻¹ = 0,114
6,42 × 10⁻³ = 0,00642 5,891 × 10⁻³ = 0,005891
5,5 × 10⁻³ = 0,0055 8,4358 × 10⁻³ = 0,0084358
2,6 × 10⁻¹ = 0,26 9,69 × 10⁻¹ = 0,969
8 × 10⁻³ = 0,008 6,2 × 10⁻¹ = 0,62
4,1334 × 10⁻² = 0,041334 9,181 × 10⁻² = 0,09181
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Multiply by Negative Powers of Ten (E)Find each product.
3,9823 × 10⁻² = 4 × 10⁻² =
3,9 × 10⁻¹ = 9,6721 × 10⁻¹ =
4,4556 × 10⁻³ = 2,4 × 10⁻¹ =
0 × 10⁻² = 6,69 × 10⁻¹ =
1,394 × 10⁻¹ = 4,5 × 10⁻¹ =
9,4755 × 10⁻³ = 5,0825 × 10⁻² =
6,8701 × 10⁻³ = 8,496 × 10⁻² =
9,342 × 10⁻³ = 6,1396 × 10⁻¹ =
1,1 × 10⁻² = 9,15 × 10⁻¹ =
2,1316 × 10⁻¹ = 1,72 × 10⁻¹ =
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Multiply by Negative Powers of Ten (E) AnswersFind each product.
3,9823 × 10⁻² = 0,039823 4 × 10⁻² = 0,04
3,9 × 10⁻¹ = 0,39 9,6721 × 10⁻¹ = 0,96721
4,4556 × 10⁻³ = 0,0044556 2,4 × 10⁻¹ = 0,24
0 × 10⁻² = 0 6,69 × 10⁻¹ = 0,669
1,394 × 10⁻¹ = 0,1394 4,5 × 10⁻¹ = 0,45
9,4755 × 10⁻³ = 0,0094755 5,0825 × 10⁻² = 0,050825
6,8701 × 10⁻³ = 0,0068701 8,496 × 10⁻² = 0,08496
9,342 × 10⁻³ = 0,009342 6,1396 × 10⁻¹ = 0,61396
1,1 × 10⁻² = 0,011 9,15 × 10⁻¹ = 0,915
2,1316 × 10⁻¹ = 0,21316 1,72 × 10⁻¹ = 0,172
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Multiply by Negative Powers of Ten (F)Find each product.
5,976 × 10⁻¹ = 7,965 × 10⁻² =
7,717 × 10⁻³ = 0,4053 × 10⁻³ =
6,391 × 10⁻¹ = 2,13 × 10⁻³ =
0,516 × 10⁻³ = 5,5598 × 10⁻¹ =
2,1571 × 10⁻² = 2,76 × 10⁻² =
7,6 × 10⁻¹ = 1,5214 × 10⁻¹ =
3,73 × 10⁻³ = 8,9404 × 10⁻¹ =
1,879 × 10⁻² = 7,6937 × 10⁻³ =
3,44 × 10⁻³ = 1,9 × 10⁻² =
9,106 × 10⁻³ = 6,677 × 10⁻¹ =
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Multiply by Negative Powers of Ten (F) AnswersFind each product.
5,976 × 10⁻¹ = 0,5976 7,965 × 10⁻² = 0,07965
7,717 × 10⁻³ = 0,007717 0,4053 × 10⁻³ = 0,0004053
6,391 × 10⁻¹ = 0,6391 2,13 × 10⁻³ = 0,00213
0,516 × 10⁻³ = 0,000516 5,5598 × 10⁻¹ = 0,55598
2,1571 × 10⁻² = 0,021571 2,76 × 10⁻² = 0,0276
7,6 × 10⁻¹ = 0,76 1,5214 × 10⁻¹ = 0,15214
3,73 × 10⁻³ = 0,00373 8,9404 × 10⁻¹ = 0,89404
1,879 × 10⁻² = 0,01879 7,6937 × 10⁻³ = 0,0076937
3,44 × 10⁻³ = 0,00344 1,9 × 10⁻² = 0,019
9,106 × 10⁻³ = 0,009106 6,677 × 10⁻¹ = 0,6677
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Multiply by Negative Powers of Ten (G)Find each product.
9,58 × 10⁻³ = 8,168 × 10⁻¹ =
8,1 × 10⁻³ = 1,3 × 10⁻¹ =
3,54 × 10⁻³ = 5,5 × 10⁻³ =
1,92 × 10⁻¹ = 7,2 × 10⁻¹ =
7,9529 × 10⁻¹ = 1,5 × 10⁻¹ =
4,8 × 10⁻² = 2,09 × 10⁻³ =
6,7 × 10⁻³ = 6,1513 × 10⁻² =
1,47 × 10⁻² = 3,64 × 10⁻³ =
0,522 × 10⁻³ = 3,09 × 10⁻¹ =
9,1578 × 10⁻³ = 0,3587 × 10⁻¹ =
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Multiply by Negative Powers of Ten (G) AnswersFind each product.
9,58 × 10⁻³ = 0,00958 8,168 × 10⁻¹ = 0,8168
8,1 × 10⁻³ = 0,0081 1,3 × 10⁻¹ = 0,13
3,54 × 10⁻³ = 0,00354 5,5 × 10⁻³ = 0,0055
1,92 × 10⁻¹ = 0,192 7,2 × 10⁻¹ = 0,72
7,9529 × 10⁻¹ = 0,79529 1,5 × 10⁻¹ = 0,15
4,8 × 10⁻² = 0,048 2,09 × 10⁻³ = 0,00209
6,7 × 10⁻³ = 0,0067 6,1513 × 10⁻² = 0,061513
1,47 × 10⁻² = 0,0147 3,64 × 10⁻³ = 0,00364
0,522 × 10⁻³ = 0,000522 3,09 × 10⁻¹ = 0,309
9,1578 × 10⁻³ = 0,0091578 0,3587 × 10⁻¹ = 0,03587
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Multiply by Negative Powers of Ten (H)Find each product.
3,202 × 10⁻³ = 1,075 × 10⁻² =
1,7 × 10⁻³ = 2,62 × 10⁻¹ =
7,6 × 10⁻² = 2,7 × 10⁻² =
2 × 10⁻¹ = 6,935 × 10⁻¹ =
2,435 × 10⁻¹ = 7,017 × 10⁻² =
3,551 × 10⁻³ = 1,9 × 10⁻¹ =
6,254 × 10⁻² = 6,8 × 10⁻¹ =
6,98 × 10⁻¹ = 5,7153 × 10⁻³ =
9,8088 × 10⁻¹ = 7,78 × 10⁻² =
8,1 × 10⁻² = 1,6354 × 10⁻¹ =
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Multiply by Negative Powers of Ten (H) AnswersFind each product.
3,202 × 10⁻³ = 0,003202 1,075 × 10⁻² = 0,01075
1,7 × 10⁻³ = 0,0017 2,62 × 10⁻¹ = 0,262
7,6 × 10⁻² = 0,076 2,7 × 10⁻² = 0,027
2 × 10⁻¹ = 0,2 6,935 × 10⁻¹ = 0,6935
2,435 × 10⁻¹ = 0,2435 7,017 × 10⁻² = 0,07017
3,551 × 10⁻³ = 0,003551 1,9 × 10⁻¹ = 0,19
6,254 × 10⁻² = 0,06254 6,8 × 10⁻¹ = 0,68
6,98 × 10⁻¹ = 0,698 5,7153 × 10⁻³ = 0,0057153
9,8088 × 10⁻¹ = 0,98088 7,78 × 10⁻² = 0,0778
8,1 × 10⁻² = 0,081 1,6354 × 10⁻¹ = 0,16354
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Multiply by Negative Powers of Ten (I)Find each product.
1,05 × 10⁻² = 9,74 × 10⁻² =
8,1 × 10⁻² = 4,74 × 10⁻² =
9,2 × 10⁻¹ = 5,34 × 10⁻³ =
3,5818 × 10⁻¹ = 6,765 × 10⁻² =
8,32 × 10⁻³ = 7,94 × 10⁻² =
6,4527 × 10⁻² = 3,2335 × 10⁻¹ =
3,535 × 10⁻² = 7,8 × 10⁻³ =
2,5 × 10⁻¹ = 2,638 × 10⁻¹ =
5,03 × 10⁻³ = 8,17 × 10⁻² =
2,32 × 10⁻³ = 6,5392 × 10⁻² =
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Multiply by Negative Powers of Ten (I) AnswersFind each product.
1,05 × 10⁻² = 0,0105 9,74 × 10⁻² = 0,0974
8,1 × 10⁻² = 0,081 4,74 × 10⁻² = 0,0474
9,2 × 10⁻¹ = 0,92 5,34 × 10⁻³ = 0,00534
3,5818 × 10⁻¹ = 0,35818 6,765 × 10⁻² = 0,06765
8,32 × 10⁻³ = 0,00832 7,94 × 10⁻² = 0,0794
6,4527 × 10⁻² = 0,064527 3,2335 × 10⁻¹ = 0,32335
3,535 × 10⁻² = 0,03535 7,8 × 10⁻³ = 0,0078
2,5 × 10⁻¹ = 0,25 2,638 × 10⁻¹ = 0,2638
5,03 × 10⁻³ = 0,00503 8,17 × 10⁻² = 0,0817
2,32 × 10⁻³ = 0,00232 6,5392 × 10⁻² = 0,065392
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Multiply by Negative Powers of Ten (J)Find each product.
3,807 × 10⁻³ = 4,44 × 10⁻¹ =
0,2 × 10⁻² = 9,6937 × 10⁻³ =
3,7 × 10⁻² = 4,2 × 10⁻¹ =
1,9361 × 10⁻³ = 7,18 × 10⁻¹ =
5,057 × 10⁻¹ = 8,7 × 10⁻¹ =
7,88 × 10⁻¹ = 9,527 × 10⁻² =
7,8747 × 10⁻³ = 8,278 × 10⁻² =
9,1 × 10⁻¹ = 6,8 × 10⁻³ =
4,8 × 10⁻³ = 6,1723 × 10⁻³ =
1,937 × 10⁻² = 7,89 × 10⁻² =
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Multiply by Negative Powers of Ten (J) AnswersFind each product.
3,807 × 10⁻³ = 0,003807 4,44 × 10⁻¹ = 0,444
0,2 × 10⁻² = 0,002 9,6937 × 10⁻³ = 0,0096937
3,7 × 10⁻² = 0,037 4,2 × 10⁻¹ = 0,42
1,9361 × 10⁻³ = 0,0019361 7,18 × 10⁻¹ = 0,718
5,057 × 10⁻¹ = 0,5057 8,7 × 10⁻¹ = 0,87
7,88 × 10⁻¹ = 0,788 9,527 × 10⁻² = 0,09527
7,8747 × 10⁻³ = 0,0078747 8,278 × 10⁻² = 0,08278
9,1 × 10⁻¹ = 0,91 6,8 × 10⁻³ = 0,0068
4,8 × 10⁻³ = 0,0048 6,1723 × 10⁻³ = 0,0061723
1,937 × 10⁻² = 0,01937 7,89 × 10⁻² = 0,0789
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